


а)  на 3: 71 322, 1 710

б)  на 4: 3 256

в)  на 5: 25 250, 1 710





1)  15 + 5 = 20 кг помидоров

2)  20 – 10 = 10 кг перца

3)  (15 + 20 + 10)

Ответ: можно

5



36mn : (6n) = 6m



Склад Было, т

I
II

Стало, т

94 – х

х
94 – х +12

х – 12 
в 3 раза >

х – 12 106 – х=3 ·

I. СММ



Склад Было, т

I

II

Стало, т

94 – х

х

106 – х

х – 12 ?

?

II. РММ 3(х – 12) = 106 – х 
3х – 36 = 106 – х 
3х + х = 106 + 36 

4х = 142 
х = 35,5 

III. 35,5 т картофеля было на I складе

Ответ:  35, 5 т  и  58,5 т 

94 – 35,5 = 58,5 т картофеля было на II складе



*

К л а с с н а я   р а б о т а.



№ 862(а – д) Сократите дробь:



№ 864(б,г) Вычислите:

25

9



а)

189 см2 х

х + 12

х(х + 12) = 189

б)
189 см2

х

х – 12

х(х – 12) = 189



75 м2 х

3х

х · 3х  =  75

х · х  = 25

х = 5

5 м и 15 м



У:  № 862(е – к); 864(а,в); 
866.

РТ: § 29  № 2, 5(а).  
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